
 

 
Product Information Packet 
SSBSM80C-475CA 

30 lb. In. ,SS BSM servo motor

Copyright © All product information within this document is subject to ABB Motors and Mechanical Inc. copyright © protection, unless otherwise noted.

Specs

Enclosure: TENV

Nameplate Speed: 4000

Agency Approvals: C UR US

CE

Base Indicator: Bracket Mounted

Dimensional Drawing Numbers: S2LYP263

Frame: D100D

Frame Material: Exposed Laminations

Motor Lead Quantity/Wire Size: 3 @ 16 AWG

Mounting Arrangement: F1



Page 2 of 8                                

                                                                  Product Information Packet: SSBSM80C-475CA - 30 lb. In. ,SS BSM servo motor

Nameplate Output: 1.76KW

Shaft Rotation: Reversible

Motor Standards: IEC



Page 3 of 8                                

                                                                  Product Information Packet: SSBSM80C-475CA - 30 lb. In. ,SS BSM servo motor

Nameplate NP3507

CAT.NO. SSBSM80C-475CA
BLANK
SPEC. S2P263W049G1

MFG.NO.
TORQ CONT STALL 3.44 NM

CUR CONT STALL/A RMS 5.32
POWER 1.76KW

RATED SPEED/RPM 4000
RATED BUS VOLTS 300

PEAK CUR/A RMS 13.6
MAX SPEED/RPM 7000

CLASS F AMB. 25
APRV-CE



Page 4 of 8                                

                                                                  Product Information Packet: SSBSM80C-475CA - 30 lb. In. ,SS BSM servo motor

Parts List

Part Number Description Quantity

SA128539 SA S2P263W049G1 1.000 EA

RA118702 RA S2P263W049G1 1.000 EA

WD1000A33 62307-2 AMP TERM,30K/REELREPLACING A19)3 4.000 EA

RM1020A10 O-RING, -041 BUNA-N, .070 CS X 2.989 ID 1.000 EA

MJ5004A05 #242-21 LOCTITE GENERAL PURPOSE MED. STR 0.001 EA

HW4606A05 PROTECH/SEAL (RNM-0200-0370-AL61) 20MM D 1.000 EA

HW5002A93 RET RING #NT002-145 BEVELED 1.000 EA

HW2525A109 (303 S.S.) KEY, 6 X 6 X 25MM ROUND ENDED 1.000 EA

HW5109A04 WASHER, SPLIT WAVE SPRING, FOR 32MM BORE 2.000 EA

S2EP2103A01 FREP SSBSM80, FEEDBACK & BRAKE STAINLESS 1.000 EA

84YN0040J016 M4 X 16MM SHC SCREW 4.000 EA

HW1021A04 WASHER, M4 SPLIT LOCK 4.000 EA

RM1020A10 O-RING, -041 BUNA-N, .070 CS X 2.989 ID 1.000 EA

HA2113A03 TOLERANCE RING 8MM X 7MM TYPE BN8X7C 1.000 EA

HA1056 SYNCHRO CLAMP, ZINC PLATED 3.000 EA

84YN0025J006 SOCKET HEAD CAP SCREW M2.5 X 6MM LG. 3.000 EA

MH4006A21 HEAT SHRINK TUBING 0.12 ID BLACK 0.708 FT

84YN0025J006 SOCKET HEAD CAP SCREW M2.5 X 6MM LG. 1.000 EA

HW1021A025 WASHER, M2.5 SPLIT LOCK 1.000 EA

CB0107A01 SSBSM80 FEEDBACK COVER, STAINLESS STEEL 1.000 EA

10YN0040S055 M4-.7 X 55MM HEX HD SCR, STAINLESS 4.000 EA

MJ5002A02 NON-CORROSIVE SILICONE, DOW 748, 10.3 OZ 0.001 EA

BG6904E03 6904/61904 D.SL,C3,POLYREX EM 1.000 EA

RF0001 RESOLVER, BRUSHLESS, 1 SPEED, 1.4165 DIA 1.000 EA



Page 5 of 8                                

                                                                  Product Information Packet: SSBSM80C-475CA - 30 lb. In. ,SS BSM servo motor

Parts List (continued)

Part Number Description Quantity

LD2200A58 LEAD ASSY,16AWG,8",BLANK,GRN/YEL,#6 RING 1.000 EA

WD1455A50 SSPWR CON HYPERTAC,AEKV08AMREK000,8P,M23 1.000 EA

WD1455A20 CONNECTOR, RESOLVER, M23/M20 STAINLESS 1.000 EA

MJ5000A09 EFI KIT #1578 (400 ML CARTRIDGE OF EFI 0.001 EA

25PA1008 PKG GRP, BSM 50, 63, & 80 1.000 EA

LB1534 MYLAR CE WARNING LABEL FOR SERVO MOTORS 1.000 EA

LB1594 MYLAR WEEE WHEELIE BIN SYMBOL FOR CE MOT 1.000 EA



Page 6 of 8                                

                                                                  Product Information Packet: SSBSM80C-475CA - 30 lb. In. ,SS BSM servo motor

No performance data has been
assigned to this product.



Page 7 of 8                                

                                                                  Product Information Packet: SSBSM80C-475CA - 30 lb. In. ,SS BSM servo motor



Page 8 of 8                                

                                                                  Product Information Packet: SSBSM80C-475CA - 30 lb. In. ,SS BSM servo motor


